KHB3K EK & + TAIZHOU

1986
KH B3K Ba” Valve ~ ETERNAL HYDRAULIC
® £/ =i A
/—-/A LSS - (G- N £ -
@ @ & & ) © 10
| 1) B3 BE: KHB3K {if = i Bk 1] 8 FHh: 01-fsRMAEFW, EWM(AG)DN12~-25
KHB2KZ {if — i ¥k %) 02-fafRiafE F4m, HM(AK)DN12~25
2 EERN BB ETIMERERERL N 03-H#FH, BEM(ZG)
3 Bk TH O4-HHHEIERIEFWH, HMA (ZK)
@ BRiK, BAERIEHETHHER: RE 06-$AFEMH R LB TH
5 BRiEHE: HE 9 RIS HHEIEEE
© Bk AL B POM 0 REAE: T-Bi, G-HEE
T EEIE A L EEH: TRESE(NBR)
® IMERT ® JETE
L SWi1 Q g
- 1 - —\r 31 Bk 1 T 90° # [
I 2
- \ N AT
\ / \
> . \ 3 '( /,‘ 1 3 (\ J 1
—l & i ‘\‘ A W S 4
‘ 1 3 2 2
2 4 2 RS DN I;-]Vé RA | D1 | | L (L1 B|H| HI H2|H3| S |swi|sw2
. KHB3K-G1/8 | 4 | 4 | — | G1/8 | 10 | 69 |35 (25|48 13 /35| 8 | 35 | 9 | 19
~—al . - KHB3K-G1/4 | 6 6 ™ G1/4 14 | 69 |35 |25 /48| 13 [ 35| 8 | 35 9 22
TP 1Y | KHB3K-G3/8 | 10 | 10 | - | G3/8 | 14 |72 |42 |42|53| 17 (40| 8 | 35 | 9 | 27
” 4 1 KHB3K-G1/2 | 183 | 12 | - | G1/2 | 13 | 83 |47 (35|53 | 17 (40| 8 | 40 | 9 | 30
' %i{ff{ i / KHB3K-G1/2 | 16 | 15 | — | G1/2 | 16 | 83 |47 (38|62 19 | 45| 11| 42 | 12 | 32
A KHB3K-G3/4 | 20 | 20 | - | GB3/4 | 18 | 95 |60 |48 |75 |245 |57 | 11| 49 | 14 | 41
KHB3K-G1 | 25 | 25 | - G1 |205|113|65 57 | 82|285| 64| 11 |565| 14 | 50
KHB3K-06LR | 4 | 4 | 6 |Mi12x15| 10 | 67 |35 |25|45| 13 | 35| 8 [345| 9 | 19
R KHB3K-08LR | 6 | 6 | 8 |M14x15| 10 | 67 |35 |25|45| 13 | 35| 8 [345| 9 | 19
» KHB3K-10LR | 8 | 8 | 10 |[M16x1.5| 11 | 74 |42 (32|53 | 17 |40 | 8 | 37 | 9 | 27
. RA . KHB3K-12LR | 10 | 10 | 12 |[M18x1.5| 11 | 74 |42 (32|53 | 17 |40 | 8 | 37 | 9 | 27
' 7/ KHB3K-15LR | 13 | 12 | 15 |[M22x1.5| 12 | 82 |47 (35|53 | 17 |40 | 8 | 40 | 9 | 30
“ T/ swe |KHB3K-15LR | 12 | 12 | 15 |M22x1.5| 12 | 82 |47 (38 |62 19 |45 | 11| 40 | 12 | 32

. D ;%_)( KHB3K-18LR | 13 | 12 | 18 |M26x15| 12 | 82 |47 |35 (63| 17 | 40| 8 | 42 | 9 | 30

KHB3K-18LR | 16 | 15 | 18 |M26x1.5| 12 | 82 |47 |38 |62 | 19 | 45| 11| 42 | 12 | 32
KHB3K-22LR | 20 | 19 | 22 |M30x1.5| 14 | 101 |60 |48 |75|245|57 | 11| 52 | 14 | 41
KHB3K-28LR | 25 | 24 | 28 |M36x1.5| 14 | 108 |65 |57 [82|285| 64 | 11| 54 | 14 | 50

KHB3K-08SR | 4 | 4 | 8 Mi6x15| 12 | 73 |35 25 |45| 13 35| 8 | 37 | 9 | 19
S KHB3K-10SR | 6 | 6 | 10 |[M18x15| 12 | 73 |35 |25 |45| 13 | 35| 8 | 37 | 9 | 19
- KHB3K-12SR | 8 | 8 | 12 |M20x15| 12 | 76 |42 |32 |53 | 17 |40 | 8 | 38 | 9 | 27
.\qﬁ KHB3K-14SR | 10 | 10 | 14 [M22x15| 14 | 80 |42 |32 53| 17 40| 8 | 40 | 9 | 27
— 1 KHB3K-16SR | 13 | 12 | 16 |M24x15| 14 | 86 |47 | 35|53 | 17 | 40| 8 | 44 | 9 | 30
- U KHB3K-16SR | 12 | 12 | 16 |M24x15| 14 | 86 |47 |38 |62 | 19 | 45| 11435 | 12 | 32
A 174 W2 KHB3K—20SR | 13 | 12 | 20 |M30x1.5| 16 | 90 |47 |35 |53| 17 | 40| 8 | 44 | 9 | 30
(I ;Krf KHB3K-20SR | 16 | 15 | 20 |[M30x1.5| 16 | 90 |47 |38 |62 | 19 | 45| 11 |455| 12 | 32

KHB3K-255R | 20 | 20 | 25 (M30x15| 18 | 109 |60 (48 | 75| 245 | 57 | 11 | 56 14 41
KHB3K-30SR | 25 | 25 | 30 M42x15| 20 (120 |65 |57 |82 | 285| 64 | 11| 60 14 50




YJZQ BKIE]

YJZQ Ball Valve

o~

... TAIZHOU

ETERNAL HYDRAULIC

® &7

YIZQE S EKBEEZEATREERPEF MENREME L. EEH
H, ZBx@EEREHRE/N, REHMHEETE, BIEFE. IMNBESE
F R o

ABSEKEEEXANREG, ROERNES. RN REAEERES
NG5 IK 1 o
ik £ 77PN: 40Mpa
T{EE7: 31.5MPa
T{EBE: -20C~+65T
BEBANREER, kK—Z2 . HtBES®KE,

® &= BH
Y W Jza B4 W (@ U

VER: Y-RERS

2 MRS JZQ-BkFZEL 1L 1’

3 FRIES: J-31.5MPa H-21MPa

44 FRiE{E: 8-50mm

5 EEEIN: N-RNEA ERENG-RFHIERL)(NPT)

W -5 2 47 i 5
® IMERST
LO )
S1
e — N

S l

T N S ~

/ 1 - \

\, r : p=

o __{- ........ T | . _ <

\ *’{ A =<0

/ i .

: = | |

L2
® R~T&
W = e G R~fmm
B H h h1 L L2 S LO

YJZQ-JO6N M16x1.5 1/4" 32 34 j I 4 68 67 14 24 120
YJZQ-J10N M18x1.5 3/8" 34 40 18 72 78 14 27 120
YJZQ-J15N M22x1.5 12" 34 4() 19 87 86 16 30 120
YJZQ-J20N M27 %2 374" 50 57 25 96 108 18 41 160
YJZQ-J25N M33x2 1 oy 64 30 116 116 20 50 160
YJZQ-J32N M42x2 11/4" 70 5 38 141 136 22 60 200
YJZQ-J40N M48x2 11/2" 75 98 45 165 148 24 s 230
YJZQ-J50N Mb4 x2 2" 98 110 52 180 180 26 85 300




YZJQ ERIE
YJZQ Ball Valve

® SpZR~T

1L

® & It

‘

+ TAIZHOU

ETERNAL HYDRAULIC

YIZQESEXBMEZA TRIEESHPEHHBNREME L, ERH

. ABBKWEBREMmEK/N, BHMEEAE., REFE, IMBEFFS
AEFERERMEXANERG, REFEHREFE
il JE 77IPN: 40Mpa

T{EEA: 31.5MPa

TiERE: -20T~+65TC
ERNREER, K—ZZ8. EEARE.

® £/ 5 i if

1VER: Y-BIERS

2ZMKE: JZQ-Bk & 1 18
H-21MPa

3 ANFRIEA: J-31.5MPa
A/ FRIE1Z: 10-50mm
B) R N-P R4 % 1 (NG -2 ) & 42 40) (NPT)

W-SMER G0 3% 3%

i . .y

g T A WS

1 IN - | :T:,f,f I < ”E

| E @ i ___L

Ij : Hi 1 L4 '
L2 i L2 l
L L L
® R~
- R~Fmm
2 s E D1 D2 L L1 L2 H
YJZQ-J6W M16x1.5 6 10 70 12 Do
YJZQ-J8W M22x1.5 3 14 70 121 14 58
YJZQ-J10W M27x1.5 10 20 90 127 16 58
YJZQ-J15W M30x 1.5 15 22 95 127 18 68
YJZQ-J20W M36 x 2 20 30 112 184 18 72
YJZQ-J25W M42 x 2 24 30 122 184 20 86
YJZQ-J32W M52 x 2 30 40 145 215 22 103
YJZQ-J40W M64 x 2 38 50 156 215 24 120
YJZQ-J50W M72 x 2 48 60 189 229 26 128
B 5 LO = I . L1 1557 L3 L4 o D

YJZQ-J10B 160 38 54 81 45 56 11 10 ®9 10
YJZQ-J15B 160 42 60 92 0 60 6 16 ®9 15
YJZQ-J20B 180 50 70 108 60 70 £:D 1.7 D11 20
YJZQ-J25B 220 o0 Fil i 114 65 80 11 175 P11 25
YJZQ-J32B 250 D 100 152 90 120 19 16 D13 a7
YJZQ-J40B 300 90 122 185 110 150 23 20 P17 40
YJZQ-J50B 350 112 150 220 136 136 46 46 P21 50




